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Answers to Factoring out the GCF

1) 402 + ) 2) 9m*(m - 1) 3) Ta?z(2x + 32) 4) Sab*c*(4bc*d - 1)
5) 3w (4w =3+ Swr) 6) 8p°q(-2pg + 3¢ — 4p*) 7) 957221 -9y - 1022)

8) 4r(977 +10¢% — 407 - 5) 9) x(8 —x) 10) 35*(3-y)

1) (e—d)2 +w) 12) (p+z)(x+6) 13) (v +2)(3a +4b) 14) (m + 10)(bc - 5)
15) (y=3)x—n) 16) (g - 8)(2p - 5w) 17) (d = 12)(8xy +92)

18) (n—14)(15a - 28b) 19) (a—9)7wx + 105) 20) (x - y)(32x+17y)
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Common Factoring

2. Find the greatest common factor. Then, write the binomial 3. Factor each polynomial.
in factored form. a) 3x* — 12x + 18 b) —10x* + 20x — 30
a)3x+ 15 b) 4x* + 8x ¢ —9x*—3x+9 d) x> —6x+ 8

¢) 5x% — 10x d) -7+ 21x

@ Yass) () “2’&“&) @ 3(at -t 6 ) @)-10(12-2,(93)
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7. A swimming pool has the area shown. 8. Find the dimensions of each rectangle.
a) Factor completely the expression a)
representing the area to determine Asordase = (
the length and the width of the % 3 Fxt)
swimming pool. L=
b) Find the actual measures of its sides b) \' ? At ‘
ifx=2m. A=22 4 18x W= 31
¢) Find the perimeter of the pool.
= AL bﬁ "l}
) A= %145
< L= 24
LT X4 W ¥« 9
W= &
\") L= WMST7Im
W= %m

c) Q- QL « aw
=342
=M+Y
=\
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